
 

 

Answer on Question #50311 - Chemistry – Other 

Question 

How many sodium ions are in 3.0 moles of NaCl? 

Answer: 

Calculate the number of NaCl molecules in 3.0 molecules of sodium chloride. The formula 

is: 

𝑁 = 𝑛 ∙ 𝑁𝐴 

n – number of moles, n = 3.0 moles; 

NA – Avogadro constant, NA = 6.022∙1023 mol-1. 

Number of NaCl molecules in 3.0 moles is: 

𝑁(𝑁𝑎𝐶𝑙) = 3.0 ∙ 6.022 ∙ 1023 = 1.81 ∙ 1024 𝑚𝑜𝑙𝑒𝑐𝑢𝑙𝑒𝑠 

Each molecule of NaCl forms 1 sodium ion and 1 chloride ion, i.e. the number of sodium 

ions is equal to the number of NaCl molecules. Therefore, N(Na+) = N(NaCl) = 1.81∙1024. 

Answer: 1.81∙1024 sodium ions are in 3.0 moles of NaCl. 
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